
ENGINEER OF RECORD VERIFY WALL CAN
SUPPORT SUNSHADE LOADS:

DESIGN LOAD: 57 psf

GROUND SNOW LOAD: 50 psf
-See maps where these calculations do not apply.

WIND SPEED: 120 mph
-See maps where these calculations do not apply.

ANCHORAGE IS BASED ON 30" PROJECTION.

MAXIMUM LENGTH OF SUNSHADE: 60"

HERCULES QUICK SHIP

(2) 3/8" SIMPSON STRONG BOLT 2's
2-7/8" MIN. EMBEDMENT

12" MIN. EDGE DISTANCE
BY OTHERS

PRECAST
CONCRETE PANEL

BY OTHERS

(2) 5/8" DIA. S.S. LAG SCREWS
(A304-Fy=65 ksi Cond. "CW")

BY OTHERS

WOOD BLOCKING
BY OTHERS

(2) 3/8" DIA. S.S. THRU-BOLTS
(A304-Fy=65 ksi Cond. "CW")

BY OTHERS

HSS TUBE
BY OTHERS

(2) 1/2" DIA. HILTI HIT-HY 270 ADHESIVE ANCHORS
300 SERIES S.S. THREADED ROD

4-1/2" MIN. EMBEDMENT
4" MIN. EDGE DISTANCE

4" MIN. SPACING
BY OTHERS

GROUT FILLED CMU
-ASTM C90

-MIN. 2,000 PSI GROUT
BY OTHERS

PRECAST ATTACHMENT

WOOD BLOCKING ATTACHMENT

HSS TUBE ATTACHMENT

GROUT FILLED CMU ATTACHMENT

S.S. BOLTS
*SEE ATTACHMENT HARDWARE

OPTIONS PER ENGINEERING
CALCULATIONS BELOW*

BY OTHERS

SURFACE MOUNTED SUNSHADE

(3) 3/8" DIA. S.S. THRU-BOLTS
(A304 - Fy = 100ksi Conc. "CW")
BY AGS, INC.
6"x6-3/8"x3/8" THK. ALUMINUM
T-BRACKET x 5" LONG
BY AGS, INC.

(5) 3" DIA. ALUMINUM
ROUND TUBES
BY AGS, INC.

1/4" THK. ALUMINUM
OUTRIGGER
BY AGS, INC.

1/4" DIA. S.S. ALIGNMENT BOLT
[AT INTERMEDIATE OUTRIGGERS ONLY ]

BY AGS, INC.

12345 N
O

.
R

EV
.

D
AT

E
BY

AG
S 

 In
c.

Ar
ch

ite
ct

ur
al

 G
ril

le
s 

&
 S

un
sh

ad
es

, I
nc

.

Ph
: (

70
8)

 4
79

-9
45

8 
   

 F
ax

: (
70

8)
 4

79
-9

47
8

2
2

4
4

2
 S

. 
F
e

y 
D

ri
ve

Fr
an

kf
or

t, 
IL

 6
04

23

SHEET NAME

SCALE
DRAWN BY SHEET NO.

DATE

LO
C

AT
IO

N
:

AR
C

H
IT

EC
T:

PR
O

JE
C

T 
N

AM
E:

C
O

N
TR

AC
TO

R
:

R
EP

R
ES

EN
TA

TI
VE

:

JOB NUMBER

LO
C

AT
IO

N
:

LO
C

AT
IO

N
:

LO
C

AT
IO

N
:

AG
S,

 IN
C.

 P
RO

JE
CT

 M
AN

AG
ER

:

6" = 1'-0"

JRW

FINISH

w
w

w
.a

gs
sh

ad
e.

co
m

-02

SUNSHADE
SECTION

SHEET

01

AutoCAD SHX Text
 3"

AutoCAD SHX Text
 3"

AutoCAD SHX Text
1 "14"

AutoCAD SHX Text
1 "14"



ENGINEER OF RECORD VERIFY WALL CAN
SUPPORT SUNSHADE LOADS:

DESIGN LOAD: 57 psf

GROUND SNOW LOAD: 50 psf
-See maps where these calculations do not apply.

WIND SPEED: 120 mph
-See maps where these calculations do not apply.

ANCHORAGE IS BASED ON 30" PROJECTION.

MAXIMUM LENGTH OF SUNSHADE: 60"

BR61-065 BR61-065

(3) 3/8" DIA. S.S. THRU-BOLTS
(A304 - Fy = 100ksi Conc. "CW")
BY AGS, INC.

6"x6-3/8"x3/8" THK. ALUMINUM
T-BRACKET x 5" LONG
BY AGS, INC.

1/4" THK. ALUMINUM
OUTRIGGER
BY AGS, INC.

SHIM AS NEEDED
BY OTHERS

(3) 3/8" DIA. S.S. THRU-BOLTS
(A304 - Fy = 100ksi Conc. "CW")
BY AGS, INC.

6"x6-3/8"x3/8" THK. ALUMINUM
T-BRACKET x 5" LONG
BY AGS, INC.

1/4" THK. ALUMINUM
OUTRIGGERS
BY AGS, INC.

SHIM AS NEEDED
BY OTHERS

S.S. BOLTS
BY OTHERS

S.S. BOLTS
BY OTHERS

SURFACE MOUNTED ATTACHMENT SURFACE MOUNTED ATTACHMENT

12345 N
O

.
R

EV
.

D
AT

E
BY

AG
S 

 In
c.

Ar
ch

ite
ct

ur
al

 G
ril

le
s 

&
 S

un
sh

ad
es

, I
nc

.

Ph
: (

70
8)

 4
79

-9
45

8 
   

 F
ax

: (
70

8)
 4

79
-9

47
8

2
2

4
4

2
 S

. 
F
e

y 
D

ri
ve

Fr
an

kf
or

t, 
IL

 6
04

23

SHEET NAME

SCALE
DRAWN BY SHEET NO.

DATE

LO
C

AT
IO

N
:

AR
C

H
IT

EC
T:

PR
O

JE
C

T 
N

AM
E:

C
O

N
TR

AC
TO

R
:

R
EP

R
ES

EN
TA

TI
VE

:

JOB NUMBER

LO
C

AT
IO

N
:

LO
C

AT
IO

N
:

LO
C

AT
IO

N
:

AG
S,

 IN
C.

 P
RO

JE
CT

 M
AN

AG
ER

:

6" = 1'-0"

JRW

FINISH

w
w

w
.a

gs
sh

ad
e.

co
m

-02

ATTACHMENT
DETAIL
SHEET

02


	Sheets and Views
	HERCULES - SURFACE-HERCULES - SURFACE SECTION
	HERCULES - SURFACE-HERCULES - SURFACE DETAIL


